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Tim is 3 and he is getting ready to go play in the snow.  
When he gets ready he follows the same process each day.
When he goes inside he does eveything in reverse.

What is that process?

 Put on ski­pants put on coat put on boots

take off bootstake off coattake off ski­pants

1 2 3
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Inverse operations: 

is to do the opposite  (undo or reverse each other's result)

+ ­ + ­ +
x ÷ x÷

What is the opposite of Addition(+)?   Subraction (­)

What is the opposite of Multiplication(x)? Division (÷)
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x+ 5 = 8

Let's think You have to show work!

x + 5 = 8
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a) x ­ 8 = 20        b)  x ­ 4 = 13      c)    ­9 + x = 12    



6

d) 8x = 32          e)  4x = 24            f)    ­9x = 81    
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g)  x  = 2             h)  x = ­3               i)     x = 4
8        4        9    
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3x = 33 x ­ 10  = 20

16 + x = 4 ­x = 12

1. 2.

3. 4.
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3x = 33
3x = 33
 3      3
  x = 11

       x ­ 10  = 20

x ­ 10 + 10 = 20 + 10
                x = 30

        16 + x = 4

 16 ­ 16 + x = 4 ­16
                 x = ­12

    ­x = 12

  ­1x = 12
   ­1     ­1
     x = ­12

1. 2.

3. 4.
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a)  2x + 3 = 14              b)  5x ­ 10 = 50
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a)  8x ­2 = 14        b)  9x + 3.4 = 30.1         c)  14 ­7x = 42  
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d)   x ­ 5 = 10        e)  x + 3 = 5             f)   8 =  x  ­ 4 
       5                           2                                       3
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You try

2)    b    
       ­5

­ 7  =  4

3)      7 =   n     ­  1
                  2

1)  ­2w + 6 = ­30.8
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1)  ­2w + 6 = ­30.8

           ­2w = ­30.8 ­ 6
           ­2w = ­36.8
           ­2w = ­36.8
            ­2        ­2
               w = 18.4

2)    b    
       ­5

­ 7  =  4

        b + 35 = ­20
             b = ­20 ­ 35
             b = ­55

x -5 x -5 x -5
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3)      7 =   n     ­  1
                  2

 n   ­  1 = 7
 2

Rewrite !
x 2 x 2 x 2

n ­ 2 = 14
     n = 14 + 2
     n = 16
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 x   +   4   =  3
 2        3

Answ
er is

a De
cima

l

 x   +   4   =  3
 2        3

x 6 x 6 x 6

 6x   +   24   =  18
  2          3
 3x    +   8    =  18
 3x    +   8    =  18
             3x   =   18 ­ 8
             3x   =   10
               x   =  3.3
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